# **Atlantis Beach Baptist College**





### PLEASE ORDER ONLINE AT www.campion.com.au

using "8U4E" as your code BEFORE Friday 14th December 2018
OR

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW
Orders can still be placed past the 'return date' but it may incur a late fee.
ALL ORDERS MUST BE PREPAID

	PREPACKAGED DELIVERY SERVICE
STUDENT GIVEN NAME(s)	STUDENT SURNAME
ADDRESS	
SUBURB	STATE POST CODE
PARENT/GUARDIAN MOBILE/PHONI	E NUMBER
PARENT EMAIL ADDRESS - REQUIRED	
SCHOOL SUPPLIED STUDENT EMAIL ADDRESS	
CREDIT CA	ARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY
MasterCard Visa	Card No.:
Expiry Date:	Cardholder's Name:
Signature:	
	▼ TEAR OFF SLIP - PLEASE RETAIN ▼

Your home delivery order will be dispatched the week ending 18th January 2019, if placed on or before the Return date of Friday 14th December 2018.

Please place your online order before the cut-off date of Friday 14th December 2018 to guarantee delivery before school starts. The home delivery fee is \$8.



## How to order your resources

#### Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

#### **Options to order**

#### **Home delivery**

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
  - 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
  - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
  - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
  - 6. Enter in your delivery option and complete details.
  - 7. Review and complete purchase.
  - 8. Once completed an order confirmation will be sent to your email address.
  - 9. If you have purchased any ebooks you will receive a separate activation email. You will need to follow the instructions within the email to complete the set up of each product.

#### Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.** 

#### 'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

#### Malaga - 751 Marshall Road, Malaga (next to Stratco)



#### Willetton - 28/32 Kembla Way, Willetton



#### **Trading Hours**

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours (21st Jan 2019 - 8th Feb 2019) Saturdays 8:30am - 2:00pm(Jan 19th, Jan 26th & Feb 2nd 2019)

#### Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2019 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

#### **Have a Question?**

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	Please note that there are digital products (eCoded) on					
	this Resource List. These items can only be ordered online,					
	and cannot be refunded. These products are single user					
	licences and are only valid for 1 year (unless otherwise					
	stated).					
	SUBJECT LEVIES					
	Atlantis Style Subject Levy	1		1	60.00	60.00
	Atlantis Tech Subject Levy	2		1	60.00	60.00
	ENGLISH GENERAL & EXTENSION					
E06324	Digital Pearson English AC 10 Reader+ (Access Code)	3	ORDER ONLINE	Ξ 1	35.95	35.95
	Can only order online at www.campion.com.au – no refunds					
P08083	Lord of the Flies (Educational edn) 2E [William Golding]	4		1	19.99	19.99
P03073	To Kill a Mockingbird (Arrow) (P/B) [Harper Lee]	5		1	19.99	19.99
P04458	Book Thief (P/B) [Markus Zusak]	6		1	19.99	19.99
P55546	Exercise Book A4 8mm 64 Page	7		4	1.10	4.40
P50510	Display Book A4 20 Pocket Mid Blue Refillable	8		1	1.95	1.95
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	9		1	3.30	3.30
P56329	Pocket Plastic 11 Hole A4 Box 100	10		1	6.95	6.95
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	11		1	13.95	13.95
P50345	Earphones Stereo Ultra Lightweight With Adapter	12		1	13.95	13.95
	Use also for Japanese and Media  MATHEMATICS - GENERAL & EXTENSION					
	THE COLLEGE WILL INFORM YOU WHICH DIGITAL MATHS TEXT BOOK TO BUY BEFORE THE END OF TERM 4. PLEASE WAIT UNTIL YOU WHICH DIGITAL MATHS TEXT BOOK TO GET BEFORE PURCHASIN BELOW.	NOW				
	Please choose ONE of the items below		Choose One			
E01184	Digital Ecoaptial Matha AC 10810A (Access Code) 25	13	ODDED ONLINE	- 1	59.95	E0 0E
201104	Digital Essential Maths AC 10&10A (Access Code) 2E  Can only order online at www.campion.com.au – no refunds  - OR -	13	ORDER ONLINE	1	59.95	59.95
E01495	Digital Essential Maths Gold AC 10 (Access Code) 2E	14	ORDER ONLINE	Ξ 1	59.95	59.95
	Can only order online at www.campion.com.au – no refunds					
P52830	Calculator Casio Scientific FX-82AU Plus II	15		1	22.05	22.05
P55546	Exercise Book A4 8mm 64 Page	15 16		1 4	33.95 1.10	33.95 4.40
P55657	Graph Book A4 5mm squares 48 Page	17		1	1.00	1.00
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	17		2	2.25	4.50
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	19		1	3.30	3.30
		19	_	ı	5.50	3.30
E04400	HASS	25	ODDED 01" "		0.4.05	04.0-
E01466	Digital Oxford Big Ideas Humanities & SS 10 WA (Access Code)	20	ORDER ONLINE	Ξ 1	31.95	31.95
D55551	Can only order online at www.campion.com.au – no refunds	04		1	1.00	7 20
P55554	Exercise Book A4 8mm 128 Page	21		4	1.80	7.20

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCIENCE - FOUNDATIONS, GENERAL & EXTENSION					
	Atlantis Beach BC Science Digital Resource Yr 10	22	ORDER ONLIN	E 1	46.95	46.95
	Can only order online at www.campion.com.au – no refunds					
	(This item contains a digital only resource for Science.					
	Access to your digital resource including log in details will be provided to you during class).					
P10974	Pearson Science 10 Activity Book 2E	23		1	15.95	15.95
P56436	Science Students Practical Exercise Book (2nd edn)	24		1	8.60	8.60
P55546	Exercise Book A4 8mm 64 Page	25		4	1.10	4.40
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	26	=	2	2.25	4.50
P56428	Safety Glasses Norton Clear Wrap Around	27		1	6.35	6.35
	CHRISTIAN EDUCATION					
P01069	Bible Good News - T.E.V. Popular Edition Sunrise (P/B)	28		1	27.50	27.50
	Retain from previous year		_			
	ATLANTIS STYLE - DRAMA					
	PARENTS TO SUPPLY					
	(Need to have "theatre blacks" - comfortable black pants					
	and plain black t-shirt for performances)					
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	29		1	2.25	2.25
	ATLANTIS STYLE - MEDIA					
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	30		1	13.95	13.95
	ATLANTIS STYLE - MUSIC					
P50671	Display Book A4 20 Pocket Clear Cover Green Refillable	31		1	2.25	2.25
	ATLANTIS STYLE - VISUAL ART					
P50610	Pencils-Coloured Faber Watercolour Pkt 24's	32		1	14.50	14.50
P52001	Pencil (2B) Goldfaber	33		2	0.55	1.10
P52013	Pencil (4B) Goldfaber	34		2	0.55	1.10
P55520	Eraser Plastic Ink/Pencil Combo Large	35		1	5.60	5.60
P56242	Sharpener Pencil Barrel Double Hole (EL)	36		1	2.05	2.05
P56130	Pen Felt Tip Fineliner Black	37		1	2.80	2.80
P50279	Marker Super Sharpie Bullet Point 1.5mm Black	38		1	3.95	3.95
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	39		1	9.20	9.20
D04242	ATLANTIS TECH - DESIGN AND DIGITAL TECHNOLOGIES	40		4	04.05	04.05
P01342	Digital Technologies for the AC 9&10 Printed Workbook [Grover & Hoareau]	40	Ľ	1	24.95	24.95
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	41		1	13.95	13.95
P51617	Exercise Book A5 PP Cover 12mm 48 page	42		1	1.00	1.00
P55546	Exercise Book A4 8mm 64 Page	43		1	1.10	1.10
P50131	Display Book A4 20 Pocket Clear Cover Black Refillable	44		2	2.25	4.50
	ATLANTIS TECH - FOOD TECHNOLOGY					
P50510	Display Book A4 20 Pocket Mid Blue Refillable	45		1	1.95	1.95
	PARENTS TO SUPPLY					
	- Apron					
	<ul> <li>- A set of clear plastic safety glasses</li> <li>- Lunch box sized plastic CLIPSEAL container with lid</li> </ul>					
	(available at supermarkets)					
	(					

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HEALTH EDUCATION					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	46		1	2.25	2.25
P55554	Exercise Book A4 8mm 128 Page	47		1	1.80	1.80
	GENERAL REQUIREMENTS					
	General Requirements are standard, but purchasers should					
	check if their child/children have existing equipment					
	before buying new items.					
P50090	Ruler 300mm Wooden	48		1	1.10	1.10
P51353	Glue Stick Artline Purple 40gm	49		1	2.60	2.60
P55522	Eraser Plastic Pencil Economy in sleeve	50		1	0.70	0.70
P50613	Highlighter Marker - Pkt 4 Assorted	51	$\overline{\Box}$	1	7.70	7.70
P56095	Pen Ballpoint Cap Type Blue Medium	52	$\overline{\Box}$	2	0.35	0.70
P56096	Pen Ballpoint Cap Type Red Medium	53	$\overline{\Box}$	2	0.35	0.70
P56240	Sharpener Pencil Barrel Single Hole (EL)	54	$\overline{\Box}$	1	1.25	1.25
P56257	Pencils Coloured Colourush Pack of 24's	55	$\overline{\Box}$	1	8.75	8.75
P58507	Scissors 155mm Plastic Handle	56	$\overline{\Box}$	1	2.95	2.95
P56628	Tissues - Softpack Pkt 100/120's	57		2	2.05	4.10
			_			

Number of Boxes ticked:		
Delivery, packaging	& handling \$8.00	_
ESTIMATED AMOU (PRICES CORRECT A	-D	